OnpeaejeHue

BbICOTbDI 3/1aHU1.







1. YCTOHOBAMBAOEM HO
HEKOTOPOM PACCTOAHMM
OT 3A0HMS LLECT €
BPALLLAIOLLEUCSH NMACGHKOM.

|



2. Honpasmum
NMAQHKY HO

BEPXHIOK TOYKY

3AQHNA.




3. MI3mepiem paccTosHue
OT CTOADQ AO LLUECTA U

PAcCTOosHME OT WeCTd AO
nepecevyeHus NPSIMon C e
NOBEPXHOCTHIO 3EMAM. e
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AaHO: . AIBC;
+ ABC
AC=145 cm;
BC=120 cm;
CC1 =800 cm
Hauntn: Ai1Ci
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PeweHme: 1). AiCiB ~.ACB no | npusHaky.
1.LC1 = [ C .
2.L_B — olOLmm.

2} =8

3) BCi= BC+CCi1=120+800=920Ccm

4)

145*920
120




CIHACKHBO 3A
BHUMAHWNE!




